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1) 20l 3.5m(AZH0l het 2IALUEHS ASHAIR
2) 201 3.6m(AH2ZH0 et HEFHESES ASAIL.(H, 2F 01722 SAE)
8) 20l 3.5m(A2hH0l E2 M4ES st Z2HE 2EOIAL.
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1) 2212

@ Hi, Fs, F5. S 22 500mm 2H20 2 Hi2stL}.
@ Ky, Ko, Ho, F3 22 250mm 2H2H O 2 HI26HAI L.

2) £0O HiXlE MFA4CH SGHEESE HGEEY 7] 0 HHHH2EE 2D HHE
ottt HBGES HGEH) 1) 2FM HEHHH2ES AE06t) E284HAT= HES| Y
XotAl 2.




1. EICES

[{ (0.35%5.20) + (- 3“;§“~35-x0.3)4-(3.50xu.50)4-(0.5x0.?5)}x3.5]]

+[{ (5 *2.60x5.5) — (5 x0.3x0.3)}x0.25x2] = 18.403m’

2. HEEZ
[{(5.20)+ (0.5x2) + (0.75x2)}x3.5] + [ { (5.20) ¥ 0.3%2+0.32)}x3.0]

+[{(:2L xz‘ﬁ(}xﬁ_f}) = (—]2— x{]_axg_g)}xz] +[{(¥2.6%+5.52x0.25x2)}] = 61.074m?

Dl k= X = S210l(mm) %= 2 % 210l (mm)
W D13 5800 28 162400
Wo D19 3500 18 63000
Wa D19 3674 8 29392
Fi D19 3500 14 49000
F- D19 3748 6 22488
Fa D13 2850 28 79800
Fa D16 2226 7 15582
Fs D16 950 7 6650
Fe D13 3500 8 28000
Ky D16 2878 14 40292
G D13 3500 6 21000
H; D16 3918 10 39180
Hz D16 2621 18 47178
B D16 6845 2 13690
S D13 471 35 16485
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